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QUESTION 1

Click the Exhibit button.

clusterl::> volume show =-vserver val =is-constituent *

Vsarver Volume Aggregate State Type ize Available Usaedh
va2 g1 - enline AW 200TB 76T 62%
vl fgi1_0001 aggrl online AW 25TB 10MB 99%
vs2 fgl_0002 aggz2 online W 25TB 1278 S2%
vs2 fgl_0003 aggrl online AW 25TB 10TB 60%
vl fgl_0004 aggrl online AW 25TB 1178 60%
vs2 fgl_ 0005 aggrl online AW 25TB 10TB 564
vs2 fgl_000& aggrl online AW 25TB 127TH 52%
vs2 fgl_0007 aggrl online aw 25TB 10TB 60%
vs2 fgl_0008 aggr2 online aw 25TB 11T 564%

clusterl::> aggr show

Aggregate Size Available Usadb State #Vols Nodes RAID Status

aggrl 300TB 103.71TB 65% online 30 clusterl-01 raid_ dp, normal
aggel_root 368.4CB 15.83GB 6% oenline 1 clusterli-02 raid_ dp, normal
aggr 300TB 176.51TB i1y online 25 clusterl-02 raid dp, normal
aggrl_root 368.4GB 15.83GB 6% online 1 <clusterl-01 raid_dp, normal

4 entries were displayed

You have an ONTAP cluster that is running a FlexGroup that is serving SMB data out to various users. One of the users
receives an error when trying to modify an existing file.

What is the cause of the problem? (Choose the best answer.)
A. The FlexGroup is full

B. The constituent is full

C. The FlexGroup is offline

D. The aggregate is full

Correct Answer: B

QUESTION 2

You are the administrator of your company\\'s ONTAP 9.7 storage system. Your system hosted CIFS shares in your
Active Directory environment for several years without any problems. Suddenly users report to you that they can no
longer access their CIFS shares.

What is the reason for this problem? (Choose the best answer.)

A. The CIFS standard license expired.

B. The user account used to join your SMB server to your Active Directory expired.
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C. The WINS servers are unreachable.
D. The NTP servers are unreachable.

Correct Answer: D

QUESTION 3

Your customer has an NTFS volume that they want to access over both SMB and NFS. The client explains that SMB
access works fine, but the clients are unable to NFS mount the volume.

What are three reasons that would cause this issue? (Choose three.)
A. There is no export-policy rule for the NFS clients.

B. The NSF server is not configured.

C. Multi-protocol is not licensed on the cluster.

D. The volume security style must be changed to UNIX.

E. The LIF data protocol does not allow NFS.

Correct Answer: ABD

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.exp-multp-cg/GUID-22C99AFB-
C64C4E99-8DD0-8F705BC803F8.html

QUESTION 4

When deploying NVMe/FC, what must be supported and enabled on the host to ensure proper multipathing? (Choose
the best answer.)

A. NVMe Qualified Names (NQN)

B. Asynchronous Namespace Access (ANA)
C. single initiator multiple target zoning

D. Asymmetric Logical Unit Access (ALUA)
Correct Answer: B

Reference: https://www.netapp.com/pdf.html?item=/media/10681-tr4684pdf.pdf

QUESTION 5
You are configuring an ONTAP cluster to use NVMe/FC.

In this scenario, which two statements are true? (Choose two.)
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A. Create NVMe LIFs on FC target ports.

B. Create an SVM with both NVMe and FC protocols enabled.
C. Create an SVM with NVMe enabled.

D. Create and start the FC service.

Correct Answer: BD

Reference: https://www.netapp.com/pdf.html?item=/media/10681-tr4684pdf.pdf
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